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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an ----- - toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an -—--eeeeee in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ---=-- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience -——--------- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ----eeeaev
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be —----eeuev to
customers.
I) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ----------- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and --
sun and the wind.

--- from years of being out in the

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ----------—- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is to0 --------——-- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---===--——--, They found a temporary
enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ========—==- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Automation is the technology by which a procedure is performed with minimum
human assistance. Automation or automatic control is the use of various control
systems for operating equipment such as machinery, processes in factories, boilers and
heat treating ovens, switching on telephone networks, steering and stabilization of
ships, aircraft and other applications and vehicles with minimum or reduced human
intervention. Some processes have been completely automated.

Automation covers applications ranging from a household thermostat controlling a
boiler, to a large industrial control system with tens of thousands of input
measurements and output control signals. In control complexity it can range from
simple on-off control to multi-variable high level algorithms.

In the simplest type of an automatic control loop. a controller compares a measured
value of a process with a desired set value, and processes the resulting error signal to
change some input to the process. in such a way that the process stays at its set point
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17-

18-

19-

20-

despite disturbances. This closed-loop control is an application of negative feedback to
a system. The mathematical basis of control theory was begun in the 18th century. and
advanced rapidly in the 20th.

Automation has been achieved by various means including mechanical, hydraulic.
pneumatic, electrical, electronic devices and computers, usually in combination.
Complicated systems such as modern factories, airplanes and ships typically use all
these combined techniques. The benefits of automation include labor savings, savings
in electricity costs. savings in material costs, and improvements to quality. accuracy
and precision.

The world Bank's World Development Report 2019 shows evidence that while
automation displaces workers, innovation creates new industries.

The passage is mainly about
1) areas where automation is applied

2) the advantages of using automation

3) the components of an automation system

4) the extent to which human intervention is reduced

Paragraph two mainly discusses ---—--— :

1) simple control units

2) industrial automation

3) the extent of applying automation

4) complicated equipment using automation

Workers do not have to worry about being replaced because --—------mnnn-,
1) quality is improved faster

2) modern industries use combined techniques

3) they are displaced to new industries and jobs

4) the benefits of automation include labor savings

The operation of an automatic control loop is based on a -
and a set value.

- 3 measured value

1) combination of 2) measurement of

3) distribution of 4) comparison between

According to the passage, the word "precision" in line 22 is closest in meaning to
1) rapid 2) accuracy

3) improved 4) advanced

PASSAGE 2:

On-line measurement of small quantities of oil (to the +5 ppm level) in water is
extremely difficult. Several mistakes were made during the early stages of equipment
development for marine use by attempting to directly transfer laboratory techniques to
the marine environment. As a result. equipment failed through corrosion. accuracy
problems and lack of robustness. It seemed that the problem had to be viewed afresh,
taking into account the difficult environmental conditions. The original test
specifications (A.-233(VII)) put forward with the assistance of OCIMF (Oil
Companies' International Marine Forum). were therefore developed further, with
OCIMF's further co-operation, to give A.393(X) as an improved initial target. This
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24-

more realistic approach led to the development of more acceptable types of
instrumentation.

The automatic reaction of a physicist or chemist to the requirement for measuring
very small concentrations (in the region of =5 ppm) of oil in water, would be to
construct equipment which could detect some specific quantity related to the basic
hydrocarbon molecule. Typical examples are the detection of the (C-H) stretching
frequencies in the near infrared (e.g. 3.4 J-Lm), or the ultraviolet fluorescence of
hydrocarbon ring molecules. The former has the definite advantage that it can be
related directly to an accepted international laboratory standard for the measurement of
oil-in-water. However, it is fair to note that both these fundamental techniques suffer
serious difficulties when they are transferred to the field. or on board ship for on-line
monitoring. It is now recognised that other simpler and less basic techniques which are
more suitable (although in some cases they may be less aesthetically pleasing to the
pure chemist or physicist) could also be applied. It seems that for this application the
measuring cell should be kept simple, but that some degree of sophisticated signal
processing is acceptable.

The passage primarily discusses
1) techniques to combat corrosion

2) prevention of oil discharge in oceans

3) measuring very small concentrations of oil in water

4) on-line reduction of oil quantities in water

According to paragraph 1, the problem with the early stages of equipment development
for marine use was -——--eeeeeeeeee,

1) not taking accuracy into account

2) directly adopting laboratory techniques

3) paying too much attention to the environmental conditions

4) being unable to develop equipment inside the marine environment

Which of following is true of A. 393(X)?

1) It was more realistic than A. 233(VII).

2) It failed a number of times in its early years.

3) It was first developed by an oil company.

4) It did not take into account the environment.

The phrase "the former' in paragraph 2 refers to —-----sceeeeeee,

1)3.4J-Lm

2) the measurement of oil in water

3) the ultraviolet fluorescence of hydrocarbon ring molecules

4) the detection of the (C-H) stretching frequencies in the near infrared

What is the author's attitude toward a simple measuring cell for the measurement of oil
in water?

1) Critical 2) Favorable
3) Ambivalent 4) Disapproving
PASSAGE 3:

The scale of global transportation of oil cargoes has led to a demand for increased
control and international legislation to combat accidental and operational discharges of
oily wastes and residues at sea. Since 1954 the International Maritime Organisation
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(IMO) has provided the international forum for the development of several proposals
for controlling oil pollution from shipping. which culminated in the 1973 International
Convention for Prevention of Pollution from Ships and the 1978 Protocol relating to
this Convention, together known as MARPOL 73178.

Apart from the requirement for improvements in the constructional design of
tankers. and operational procedures to enhance both safety and pollution control in the
carriage of oil and other noxious substances at sea, MARPOL 73178 called for the
extensive installation of oil discharge monitoring, control and separating equipment on
board ships and offshore platforms. The 1973 Convention came into force in October
1983, twelve months after sufficient countries had ratified it and agreed to abide by the
international rules and regulations. As a result, a large number of systems have now
been installed and are operational. The demand to separate oil from water to give an
oil content of less than 15 parts per million (ppm) and measure this on-line in an
extremely difficult environment has provided a considerable impetus for the
development of novel and robust instrumentation and systems.

According to paragraph 1, an increased demand for oil pollution control at sea is due to
1) the vast scale of oil shipment

2) the lack of legislation on oil cargoes

3) the recent awareness-raising programs

4) the extinction of several fish species

It can be understood from paragraph 1 that MARPOL 73178 ----
1) is an oil company 2) was a result of IMO's efforts

3) is the name of a convention 4) is the name given to the 1978 Protocol
Which of the following is NOT demanded by MARPOL 73178?

1) Improving pollution control

2) Enhancing constructional design of tankers

3) Installation of oil discharge monitoring

4) Separating oil from noxious substances

The phrase "abide by" in paragraph 2 is closest in meaning to

1) obey 2) impose

3) establish 4) disregard

The passage implies that the precision needed in separating oil from water requires

I) new international legislation

2) trained and skilled engineers

3) the development of powerful instrumentation and systems

4) a considerable international impetus for funding oil companies
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